## SUPPLEMENT TO "ESTIMATING DERIVATIVES IN NONSEPARABLE MODELS WITH LIMITED DEPENDENT VARIABLES"

(Econometrica, Vol. 80, No. 4, July 2012, 1701–1719)

By Joseph G. Altonji, Hidehiko Ichimura, and Taisuke Otsu

## APPENDIX

THIS SUPPLEMENT PROVIDES proofs of Theorem 3.1 and Lemma 4.1.

PROOF OF THEOREM 3.1: To show (5) it is sufficient to prove the derivative formula (A.1) for  $\nabla_1$ , the partial derivative with respect to the first element of x, that is,

(A.1) 
$$\nabla_1 \int M(x, u) I_M(x) d\mu(u)$$
$$= \int \nabla_1 M(x, u) I_M(x) d\mu(u) - H(x) \nabla_1 G_H(x) - L(x) \nabla_1 G_L(x).$$

The left-hand side of (A.1) is written as

$$\begin{split} &\lim_{\varepsilon \to 0} \bigg[ \int M(x + \varepsilon \mathbf{e_1}, u) I_M(x + \varepsilon \mathbf{e_1}) \, d\mu(u) \\ &- \int M(x, u) I_M(x) \, d\mu(u) \bigg] / \varepsilon \\ &= \lim_{\varepsilon \to 0} \int [M(x + \varepsilon \mathbf{e_1}, u) - M(x, u)] I_M(x + \varepsilon \mathbf{e_1}) \, d\mu(u) / \varepsilon \\ &+ \lim_{\varepsilon \to 0} \int M(x, u) [I_M(x + \varepsilon \mathbf{e_1}) - I_M(x)] \, d\mu(u) / \varepsilon \\ &= T_1 + T_2, \end{split}$$

where  $\mathbf{e_1} = \pm (1, 0, \dots, 0)$ . Assumptions 2, 4, and 5 imply  $\lim_{\varepsilon \to 0} I_M(x + \varepsilon \mathbf{e_1}) = I_M(x)$  a.s. Thus, Assumption 4 and the Lebesgue dominated convergence theorem imply that  $T_1 = \int \nabla_1 M(x, u) I_M(x) d\mu(u)$ . We now consider  $T_2$ . By the definition of  $I_M$  and Assumption 2,

DOI: 10.3982/ECTA8004

$$\begin{split} I_{M}(x + \varepsilon \mathbf{e_{1}}) - I_{M}(x) \\ &= \left[ I\{L(x + \varepsilon \mathbf{e_{1}}) < M(x + \varepsilon \mathbf{e_{1}}, U)\} \right. \\ &+ I\{M(x + \varepsilon \mathbf{e_{1}}, U) < H(x + \varepsilon \mathbf{e_{1}})\} \right] \\ &- \left[ I\{L(x) < M(x, U)\} + I\{M(x, U) < H(x)\} \right] \end{split}$$

a.s. for all  $\varepsilon$  sufficiently close to zero. So,  $T_2$  can be written as

$$\begin{split} T_2 &= \lim_{\varepsilon \to 0} \int M(x,u) \big[ I\{L(x+\varepsilon \mathbf{e_1}) < M(x+\varepsilon \mathbf{e_1},u)\} \\ &- I\{L(x) < M(x,u)\} \big] d\mu(u)/\varepsilon \\ &+ \lim_{\varepsilon \to 0} \int M(x,u) \big[ I\{M(x+\varepsilon \mathbf{e_1},u) < H(x+\varepsilon \mathbf{e_1})\} \\ &- I\{M(x,u) < H(x)\} \big] d\mu(u)/\varepsilon. \end{split}$$

Since  $I\{L(x + \varepsilon \mathbf{e_1}) < M(x + \varepsilon \mathbf{e_1}, u)\} = 1 - I\{M(x + \varepsilon \mathbf{e_1}, u) \le L(x + \varepsilon \mathbf{e_1})\}$  for all  $\varepsilon$  sufficiently close to zero, the following lemma completes the proof. *Q.E.D.* 

LEMMA A.1: Under Assumptions 1–5,

(A.2) 
$$\lim_{\varepsilon \to 0} \int M(x, u) \left[ I\{M(x + \varepsilon \mathbf{e_1}, u) < H(x + \varepsilon \mathbf{e_1})\} - I\{M(x, u) < H(x)\} \right] d\mu(u) / \varepsilon$$
$$= -H(x) \nabla_1 G_H(x).$$

PROOF: It is sufficient to show that both an upper bound and a lower bound of the left-hand side of (A.2) converge to the right-hand side as  $\varepsilon \to 0$ . The left-hand side of (A.2) equals

(A.3) 
$$\lim_{\varepsilon \to 0} \int M(x, u) I\{M(x + \varepsilon \mathbf{e_1}, u) < H(x + \varepsilon \mathbf{e_1})\}$$

$$\times I\{M(x, u) \ge H(x)\} d\mu(u)/\varepsilon,$$

$$-\lim_{\varepsilon \to 0} \int M(x, u) I\{M(x + \varepsilon \mathbf{e_1}, u) \ge H(x + \varepsilon \mathbf{e_1})\}$$

$$\times I\{M(x, u) < H(x)\} d\mu(u)/\varepsilon.$$

Since the argument is analogous, we only show the result for an upper bound. For any small  $\varepsilon > 0$  that satisfies the neighborhood condition in Assumption 4, by the mean value theorem there exists  $0 < \tilde{\varepsilon} < \varepsilon$  such that  $M(x + \varepsilon \mathbf{e_1}, U) = M(x, U) + \nabla M(x + \tilde{\varepsilon} \mathbf{e_1}, U)\varepsilon$  a.s. Thus, by Assumption 4,

$$\begin{split} M(x+\varepsilon\mathbf{e_1},U) &\leq M(x,U) + \sup_{0<\tilde{\varepsilon}<\varepsilon} \nabla M(x+\tilde{\varepsilon}\mathbf{e_1},U)\varepsilon \\ &\leq M(x,U) + \sup_{x'\in N(x,\varepsilon)} \nabla M(x',U)\varepsilon \\ &\leq M(x,U) + B(U)\varepsilon \end{split}$$

a.s., where  $N(x, \varepsilon)$  is a neighborhood around x with radius  $\varepsilon$ . Analogously by replacing the supremum with the infimum, we can show that  $M(x + \varepsilon e_1, U) \ge M(x, U) - B(U)\varepsilon$  a.s.

By these inequalities, (A.3) can be bounded from above by

$$\begin{split} &\lim_{\varepsilon \to 0} \int H(x + \varepsilon \mathbf{e_1}) I\{M(x + \varepsilon \mathbf{e_1}, u) < H(x + \varepsilon \mathbf{e_1})\} \\ & \times I\{M(x, u) \ge H(x)\} \, d\mu(u)/\varepsilon \\ &+ \lim_{\varepsilon \to 0} \int B(u) I\{M(x + \varepsilon \mathbf{e_1}, u) < H(x + \varepsilon \mathbf{e_1})\} \\ & \times I\{M(x, u) \ge H(x)\} \, d\mu(u) \\ &- \lim_{\varepsilon \to 0} \int H(x + \varepsilon \mathbf{e_1}) I\{M(x + \varepsilon \mathbf{e_1}, u) \ge H(x + \varepsilon \mathbf{e_1})\} \\ & \times I\{M(x, u) < H(x)\} \, d\mu(u)/\varepsilon \\ &+ \lim_{\varepsilon \to 0} \int B(u) I\{M(x + \varepsilon \mathbf{e_1}, u) \ge H(x + \varepsilon \mathbf{e_1})\} \\ & \times I\{M(x, u) < H(x)\} \, d\mu(u). \end{split}$$

By Assumptions 2, 4, and 5, the Lebesgue dominated convergence theorem implies that the second term and the fourth term converge to zero. The first term and the third term can be rewritten as

$$\lim_{\varepsilon \to 0} H(x + \varepsilon \mathbf{e_1}) \int [I\{M(x + \varepsilon \mathbf{e_1}, u) < H(x + \varepsilon \mathbf{e_1})\} - I\{M(x, u) < H(x)\}] d\mu(u)/\varepsilon,$$

which is the right-hand side of (A.2) under Assumptions 2 and 3. The conclusion is obtained. *Q.E.D.* 

PROOF OF LEMMA 4.1: The basic idea of the proof is as follows. First, independently from x, we pick any strictly increasing distribution functions  $F_1$  and  $F_2$  with continuous densities  $f_1$  and  $f_2$  such that

(A.4) 
$$\sup_{x} |H(x) - L(x)| \{F_{j}^{-1}(p_{H}) - F_{j}^{-1}(p_{L})\} \max_{\tilde{u}_{j} \in [F_{j}^{-1}(p_{L}), F_{j}^{-1}(p_{H})]} f_{j}(\tilde{u}_{j})$$

$$< 2\varepsilon(p_{2} - p_{1})$$

for j=1,2, where  $p_1, p_2, p_L$ , and  $p_H$  satisfy Assumption 3' and  $\varepsilon$  satisfies Assumption 2'. Since  $\sup_x |H(x) - L(x)|$  is bounded by a constant from Assumption 3', it is possible to choose such  $F_1$  and  $F_2$ . We set the joint density of  $\tilde{U}$  as  $f_{\tilde{U}}(\tilde{u}_1, \tilde{u}_2) = f_1(\tilde{u}_1)f_2(\tilde{u}_2)$ . Second, we pick any point x. Third, for the given

x, we show the existence of  $(\tilde{M}_0(x), \tilde{M}_1(x), \tilde{M}_2(x))$  satisfying the equivalence  $\Psi(x) = E[M(X, U)|X = x, I_M(X) = 1] = E[\tilde{M}(X, \tilde{U})|X = x, I_M(X) = 1]$ . Fourth, observe that we can apply this argument for any x with the same  $F_1$  and  $F_2$  above to show the equivalence on  $\Psi(x)$  for all x (note:  $F_1$  and  $F_2$  do not depend on x by definition). Finally, showing that  $\tilde{M}(x, \tilde{u})$  is differentiable in x (for almost every  $\tilde{u}$ ) implies  $E[\nabla M(X, U)|X = x, I_M(X) = 1] = E[\nabla \tilde{M}(X, \tilde{U})|X = x, I_M(X) = 1]$ . Hereafter, we show the third and final steps.

The third step. For given x, we want to find  $(\tilde{M}_0(x), \tilde{M}_1(x), \tilde{M}_2(x))$  such that  $\tilde{M}(x, \tilde{u}) = \tilde{M}_0(x) + \tilde{M}_1(x)\tilde{u}_1 + \tilde{M}_2(x)\tilde{u}_2$ ,  $G_L(x) = \Pr\{\tilde{M}(X, \tilde{U}) \leq L(X) | X = x\}$ ,  $G_H(x) = \Pr\{\tilde{M}(X, \tilde{U}) \geq H(X) | X = x\}$ , and  $\Psi(x) = E[\tilde{M}(X, \tilde{U}) | I_M(X) = 1, X = x]$ . For notational convenience, we hereafter drop the arguments x from functions and suppress the tilde, denoting  $(\tilde{M}_0(x), \tilde{M}_1(x), \tilde{M}_2(x))$  as  $(M_0, M_1, M_2)$  and  $(\tilde{u}_1, \tilde{u}_2)$  as  $(u_1, u_2)$ . Note that

(A.5) 
$$G_{L} = \int_{-\infty}^{\infty} f_{1}(u_{1}) F_{2}\left(\frac{L - M_{0} - M_{1}u_{1}}{M_{2}}\right) du_{1}$$
$$= \int_{-\infty}^{\infty} f_{2}(u_{2}) F_{1}\left(\frac{L - M_{0} - M_{2}u_{2}}{M_{1}}\right) du_{2},$$

(A.6) 
$$1 - G_H = \int_{-\infty}^{\infty} f_1(u_1) F_2\left(\frac{H - M_0 - M_1 u_1}{M_2}\right) du_1$$
$$= \int_{-\infty}^{\infty} f_2(u_2) F_1\left(\frac{H - M_0 - M_2 u_2}{M_1}\right) du_2,$$

(A.7) 
$$\Psi G_{M} = M_{0}G_{M}$$

$$+ M_{1} \int_{-\infty}^{\infty} u_{1}f_{1}(u_{1})$$

$$\times \left[ F_{2} \left( \frac{H - M_{0} - M_{1}u_{1}}{M_{2}} \right) - F_{2} \left( \frac{L - M_{0} - M_{1}u_{1}}{M_{2}} \right) \right] du_{1}$$

$$+ M_{2} \int_{-\infty}^{\infty} u_{2}f_{2}(u_{2})$$

$$\times \left[ F_{1} \left( \frac{H - M_{0} - M_{2}u_{2}}{M_{1}} \right) - F_{1} \left( \frac{L - M_{0} - M_{2}u_{2}}{M_{1}} \right) \right] du_{2}.$$

Reparameterize so that  $\lambda=M_1/M_2$ . By holding  $\lambda$  constant, we can find  $M_0^*(\lambda)$  and  $M_2^*(\lambda)$  that solve (A.5) and (A.6) with respect to  $M_0$  and  $M_2$ , respectively. Let  $l_\lambda$  and  $h_\lambda$  denote the solutions to  $G_L=\int_{-\infty}^\infty f_1(u_1)F_2(l_\lambda-\lambda u_1)\,du_1$  and  $1-G_H=\int_{-\infty}^\infty f_1(u_1)F_2(h_\lambda-\lambda u_1)\,du_1$ , respectively. Then by the definitions,  $M_0^*(\lambda)$  and  $M_2^*(\lambda)$  are written as  $M_0^*(\lambda)=\frac{h_\lambda L-l_\lambda H}{h_\lambda-l_\lambda}$  and  $M_2^*(\lambda)=\frac{H-L}{h_\lambda-l_\lambda}$ .

By substituting these solutions, the right-hand side of the expression for  $\Psi G_M$  above can be regarded as a function of  $\lambda$  (denote the function by  $m(\lambda)$ ). Thus, for the conclusion, it is sufficient to check the existence of  $\lambda^* > 0$  that solves  $\Psi G_M = m(\lambda)$ . Note that  $m(\lambda)$  is continuous in  $\lambda$  because of the continuity of  $F_1$  and  $F_2$ . Thus, by the intermediate value theorem and Assumption 2', the existence of  $\lambda^*$  can be verified by showing

(A.8) 
$$\lim_{\lambda \to 0} m(\lambda) < (L + \varepsilon)G_M, \quad \lim_{\lambda \to \infty} m(\lambda) > (H - \varepsilon)G_M$$

for some  $\varepsilon > 0$  satisfying Assumption 2'.

We now show the first statement of (A.8). Note that  $h_{\lambda} \to h_0$  and  $l_{\lambda} \to l_0$  as  $\lambda \to 0$ , where  $h_0$  and  $l_0$  solve  $F_2(h_0) = 1 - G_H$  and  $F_2(l_0) = G_L$ , respectively, and that  $m(\lambda) \to LG_M + \frac{H-L}{h_0-l_0} \int_{l_0}^{h_0} (u-l_0) f_2(u) \, du$  as  $\lambda \to 0$ . Since  $G_M > p_2 - p_1$  by Assumption 3', the requirement (A.4) on  $F_2$  implies the first statement of (A.8). Similarly, since  $m(\lambda) \to HG_M - \frac{H-L}{h_\infty-l_\infty} \int_{l_\infty}^{h_\infty} (h_\infty - u) f_1(u) \, du$  as  $\lambda \to \infty$  (where  $h_\infty$  and  $l_\infty$  solve  $F_1(h_\infty) = 1 - G_H$  and  $F_1(l_\infty) = G_L$ , respectively), the requirement (A.4) on  $F_1$  implies the second statement of (A.8). This completes the proof of the third step.

The final step. Since  $(\tilde{M}_0(x), \tilde{M}_1(x), \tilde{M}_2(x))$  satisfies (A.5)–(A.7) for all x and Assumptions 2'–4' guarantee the differentiability of  $(\tilde{M}_0(x), \tilde{M}_1(x), \tilde{M}_2(x))$ , it follows that  $\tilde{M}(x, \tilde{u})$  is differentiable in x for almost every  $\tilde{u}$ . *Q.E.D.* 

Dept. of Economics, Yale University, 37 Hillhouse Avenue, New Haven, CT 06520, U.S.A.; joseph.altonji@yale.edu,

Graduate School of Economics, University of Tokyo, 7-3-1 Hongo, Bunkyo-ku, Tokyo, 113-0033 Japan; ichimura@e.u-tokyo.ac.jp,

ana

Cowles Foundation and Dept. of Economics, Yale University, P.O. Box 208281, New Haven, CT 06520, U.S.A.; taisuke.otsu@yale.edu.

Manuscript received June, 2008; final revision received May, 2011.